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An infinitely long cylinder is used to "plug" a slot in a flat plate, as shownibelow-
Consider the flow of the air to be steady, incompressible, and inviscid. The free-
stream atmospheric conditions are

P.. = 1.01325 x 105 N/m2
_ Do = 1.2250 kg/m3

. _The cylinder is 7.5 ¢m in diameter and is made of a material whose density (pc) is
‘| 798.00kg/m3. What is the minimum velocity of the undisturbed free stream that will
lift the cylinder off the plate (neglecting any effects of friction between the plug and
the plate)? fpra i
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| sin6dO = - cos O

Air at rest at standard atmospheric pressure ' S
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